T3 O FERSHEENZTFE () ZROBYEDH D,

BN FROMBEZNA - XHZNTN18,841,000HELT %,
WRX7CEDNA « THFEDOEREIT FRICK D,

B (M)
UL A > th
304FE IEF29 HB 304FEE RIEF29 Jif
LHteEx
16,953,000] 12301000[ 4652000 18,758,000| 13,590,000 5168000
N7 =58 -1,805,000
NEFHXIESER
1,806,000 1,290,000 516,000 1,000 1,000 0
N7 =48 1,805,000
AIERRRHIN T =58 T imE 82,000 0 82,000 82,000 0 82,000
AT st
18,841,000| 13591000 5250000 18,841,000] 13591,000[ 5250000
0FEENZELR 0
FR30F3H827H
#AEEAN LERNMREUHES
e =g ok




FRB0EE MEaEXEt Y2 —BXFIRAERINEZTE

HMEBEE [IFh)

B (M)
5
] o -
EteEE ME 30FE 295 E e ME 30FE 295 E Jid:3%
/A T TN 12,021,000 11970000 51,000 AfEEE 15,280,000/ 11,395,000, 3,885,000
g w2 - SRENGERNIE T IEH 4,547,000 0| 4,547,000|EXE 2,515,000 2,045,000 470,000
s - REPHE 181,000 181,000 O|SRANEHT S B HE =8 763,000 0 763,000
SN AR e = 200,000 150,000 50,000|!) 7 Lw a1 EE 200,000 150,000 50,000
U KEBE 4,000 0 4,000
5 =t 16,953,000/  12301,000] 4,652,000 5 18,758,000 13,590,000/ 5,168,000
E NEFZIEER (Y= 30FE 296 Jag:3% Y= 30FE 9 E g%
- NEFHZEBRA | NETHZRENA 1,806,000/ 1290000  516,000|FHE 1,000 1,000 0
E 0
t 5t 1,806,000 1,290,000 516,000 s 1,000 1,000 0
>~
¥4
| A AR BN 32 28R 82,000 0 82,000 FieE 82,000 0 82,000
=
= INA S 18,841,000 13,591,000/  5250,000 x e 18,841,000/ 13,591,000/  5250,000




